2 2. v = =+
Mgt ipa Skl £ SHEMFE LY G4
FTLoos | 5 | ¥ 2 | d | OHRELTH
¥ E R
CARERRFEFA LB PR F
- B4 A
(1. 5 & tife @ 75 % 1000 = 2 3000 = -
(2.3 & 22 g B~ kb5 1 475 % 1000 3 5000 ~ -
(8. ey 2 e f 4t oo g ¢ 57 5% 1000 1 5000 =
S FRE P Y 3B EEFRE -
s Rl ke
[(B5E -2 &2 mpE~ §opthly 475 % 2000 2 5000 ~
(4.0 # = =3 5= 1 &7 5% 2000 % 5000 = o
[J5.<¢ # = : #7 5% 3000 1 8000 =~ -
pe | Bomd kg BErRr RIS A
Eﬁ%iﬂ;}’%’ [2~ & >0 ];'—:é‘_—'\%}’% EiEHE S G oHE ol $ﬁﬂ:d’5hﬁ A o
T E R (B 3EPe2REE R  RELEGFRETE EREFAr- o
B 2 [J4~7= P 3 (mEP T ) ERESR A -
(5~ 7° @P 3 (kMY ) EfiE " B4 -
B o~ R %’{ F' ’}——
(rEREI RS i FRAARTE | ALF Y (285 [ #Li7
e 2 pE At M3 it Lot R g g R)
Tt B
> T e — 2 /:'»
K2 ~g |F2
o A g 244 g . E o2
( piEpasii 2288 | 7 (&%)
& LI
P I 3 +




Eipfces &

2

Y
/J:

SR Y T T =

m <

B
N
gt



